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1. The target heart rate during exercise for a 15-year-old is
between 154 and 174 beats per minute inclusive. Write a
compound inequality to show the heart rates that are within
the target range. Graph the solutions.
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Solve each compound inequality and graph the solutions.
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Write the compound inequality shown by each graph
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Write a compound inequality for each problem. Graph the solutions.
11. The human ear can distinguish sounds
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12. Fora man to box as a welterweight, he must
weigh more than 140 Ibs, but at most 147 Ibs. — ;
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1. Mr. Venn knows that 60% of his students will score no more than 5 points above or
below the class average, 75%, on the test.

Write an inequality that represents the test scores of 60% of his students?
704 X< Q0

. Tony scored 22 and 25 points in the first two games of a basketball toumament.
Tony's goal is to make the All-Tournament Team. So far, in all of the fournaments
he's been to, all of the players who made the All-Tournament Team scored an
average between 27 and 32 points in the tournaments.
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Determine the range of points Tony should score in his next game to make the All-
Toumament Team.
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3. Consider the bank of terms and symbols depicted below.
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Use the terms and symbols in the bank to write a compound inequality for the:
graph below. You may only use each term once, but you do not have to use all the
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Absolute values measure distance
Distance is always positive!

| x| what ever is inside the bars you simplify
and then make positive.
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Solve each equation.
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